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(1)

ALl
27 15sH £ ~8 28H %
20 Z 27 1
8,000 60 5,000 20 ~39
40 ~50
3,889 4 86%
Z 4,11 5 14%
8,0® 10®%
A
20 7 ® 6 B 1,3%
30 79 8 u 1.6 @
1,4 D 15D 3,00
60 1,18 1,0 8 224
70 82 9@ 1,724
80 3 6 &6 1 ®5
239 2,6 5,00
E
Vil

3,000



4,256 53.2
Z
20 19 2 71% 24| 346% 2 43 3 10%
30 2P 3 44% 3 | 451% 0 63 3 98%
2030 4@ 3 10% 6@ | 403% 2 1,02 | 357%
60 7Q 5 94% 70| 677% 3 1,42 6 35%
70 57 6 41% 6D | 696% 5 1,14 6 73%
80 238 6 14% 3| 511% 1 56® 5 51%
60 1,472 6 14% 1,6 71| 642% 9 3,12 | 630%
5 7 20 32
1,93 4 99 22® | 556% 31 42% | 532%
Z
20 30 4 31 567%
60 4 67% 5 30%
B A A 1T 20 30
20 30 20 26.8%
----- Single Answer =|
----- Multi Answer
100
----- Numer d Answer A
---------- n unber 100 100
100




(2)

1 SA
65~69 768 18.0 60~64 6 5
15.4% 70~74 595 140% 80 570 13.4% 60
74.1%
Rl : &5 (SA)
BEIE08% 0245 4.8%
i 5~~291% 5.3%
30~ 3415 6.4%
)\ 35~392% 8.6%

n=4,256
20v2 4 206 4.8%
2529 227 5.3%
3034 273 6.4%
35v39 366 8.6%
6 0~6 4 654| 15.4%
6 56 9 768 18.0%
707 4 595 14.0%
7579 565 13.3%
80 570 13.4%
32 0.8%
4,256 100.0%




1,939 45.6% L 2,286 53.7%
20~39 462 431% « 6 B 56.7%
60 1,472 467% T 1,671 5 30%
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1l . ﬂEﬁAn(SA)X 2 : 'IEB'J (SA)

0% 20% 40% 60% 80% 100%
20~395% (n=1072) 56.7% 0.2%
605ELL I (n=3152) 53.0% 0.3%
&Et (n=4256) 53.7% 0.7%
EEH O% O #E[o] &
Z

20~3 9 462 608 2 1,072

60 1,472 1,671 9 3,152

5 7 20 32

1,939 2,286 31 4,256




1,329 31.2% 709
16.7% 596 14.0% 3 61.9%
20~39 535 49.9%
180 1 68% 91 8.5% 60
1,284 40.7% 5® 15.9%
7K 4 2 14.0%

&l ﬂzﬁ%(SA)X 13 : M¥(SA)

0% 10% 20% 30% 40% 50%

WLox%
BE-RkER | ] 14.0%

=t BFIRE

49.9%

. 1.9%
REHE -_5-0.4%

Rt P4k

EEIHRED

Eiiid | 40.7%

i e I 31.2%

3.3%
T 1.8% ®20~397%% (n=1072)
50.1% 0605%LLE (n=3152)

1 0.9% O &5t (n=4256)

EBREE



20~3 9 48 11 44 535 20 180
60 321 442 81 172 12 264
0 1 0 2 0 0

369 454 125 709 32 444

20~3 9 65 91 42 35 1 1,072
60 0 500 1,284 58 18 3,152
0 5 3 1 20 32

65 596 1,329 94 39 4,256




4 MA
2,414 567% 1,55
35.9%
20~39 527 49.2%
450 42.0% 411 38.3% 60
1,955 62.0% 1,108 35.2%
462  14.7%
1 : FEn(SA)x B4 : BFELTLBA(MA)
0% 10% 20% 30% 40% 50% 60% 70%
—AESL 14.7%
XFELEIE | A2.0% | 62.0%
v 7156.7%
49.2%
BoFEr-3ic@E0R
z8t | _ T 35.2%
Yy 1735.9%
5%
FLLOBREE ; 14.1%
% 1%
# 86%
6.4
- 15.0%
AN 108 |!I 1.8%
71 5.1%
|
0.1%
BROBREE 907%
0.6%
19.6%
5Bk |g|§%
7] 5.8%
1.2%
RO EEE ;0 2%
| 0.5% W 20~395% (n=1072)
HEER A B - TR ABE 50113% 0605%LLE (n=3152)
0.8

Al

S

&
o
S

(=]
0t
R R

"m—_-—'_lzlz-_
OOH

000 of
ol pobt

X

O& 5t (n=4256)



20~39 83 450 527 411 27 0 161
60 4 1,955 182 1,108 445 22 58
3 9 3 7 2 1 0

548 2,414 712 1,526 474 2B 219

20~39 1 210 13 1 20 5 1,072
60 23 36 7 31 12 15 3,152
0 1 0 1 0 16 32

24 247 20 33 32 36 4,256




2® 1,324 3 11% 200 2,750
64.6
20~39 20 9@ 84.2% 200 13
14.3% 60 200 1.8F 58.3% 200
1,168 37.1%
60 200 20~39 2 28
20 25.9

Ml ﬂzgﬁ(SA)X f5 - ﬁ%@@@EW(SA)

0% 20% 40% 60% 80% 100%

20~397% (n=1072) 84.2% 1.5%

60i% LA L (n=3152) 58.3% 4.7%

BET (n=4256) 64.6% 1 4.3%

B 2005 FAE 0200 5L E OELE
200 2@

20~3 9 13 9@ 16 1,072
60 1,18 1,8%F 147 3,152
3 10 19 32
1,32 2,79 182 4,256
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6 B =H SA

BH #E =
756
226  5.3%
20~39
61 5.7%
70.7%
20~39 9
60

3,237
16.8%

76.1%

997 93.0%
60 2,227
652 20.7%
60

214 6.8%

Rl : FE(SA)x 16 : BEEDiEER(SA)

0% 20%

40% 60% 80%

100%

20~397% (n=1072)

60EELL_E (n=3152)

&5t (n=4256)

BEAT:EETS

057% O 1.1%
0.2%

M 19%

 H 18%

0B 9T EGFLGLD, RIEREN ST 3

@ B 570 [ElE HED BERL 73 L DEEE
20~39 909 61 12 2 1,02
60 2,27 652 24 59 31%
13 2 0 17 32
323 715 23 78 42%
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7 H SA

H A 1,910 44.9%
== 2,305 54.2% B & ==
20~39 )25 1,005 93.8% H 62
5.8% 60 2! 8 3B 28.3% J25|
22%  70.6%
20~39 9 2! 60 3
1 : FEp(SA)x 7 : BN TOA -2y hOFIF(SA)
0% 20% 40% 60% 80% 100%
' ' ' ' ' 5.8%

20~39%% (n=1072) 0.5%

60m%LL_E (n=3152) 1.1%

& 5T (n=4256) 1.0%

mFEL TS OFIABL TLVEL o ELQE
F
2 0v39 1,005 62 5 1,02
60 893 2,25 34 3.1®
12 18 2 32
1,910 2,36 41 42 %
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7(1) F SA
A vl
1,328 69.5% 2~3
2 Ov39 893
2~3 60 6.0% 60
47.6% 2~3 178 19.9% 1 1
60 20~39 H & K =

Rl : FE(SA)x f7(1) : 12593y bOFIFERRE (SA)

H =
238  12.5%
88.9%
425
~2 141 15.8%
80% 100%

06.0% O23% O 2.8%

0% 20% 40% 60%
20~39%% (n=1005) 88.9%
605 L1 I (n=893) 47.6% 19.9%

13.1%

&t (n=1910)

69.5%

1 0.1%

% 3.6%

7.4%

125% | 9% 1.7%

nEH-(FEFEEH 082~307FE 0810 E 01 B(Z1~2(Li2E BZ O DELE

XFIBLTWAJEBIEURA
2~3 1 1 A 1~
2
2039 83 60 23 28 1 0 1,0®
60 45 18 17 141 32 0 83
10 0 1 1 0 0 12
1,338 238 14 170 33 0 1,9D
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7(2) J=5] MA
A sl
872 37.8% 648 28.1%
469 20.3%
20~39 22 35.5%
21 33.9%
16 2 58% 60
844 37.9% 633 28.4%
449 20.2%
11 : FEp(SA)x BI7(2) : 1>AA—3ybEFAULTUVRVEH(MA)
0% 10% 20% 30% 40%
' 5%
ARG EDREESE > TLVEL 37.9%
| 37.8%
12.9%
PHEBGNWEEZTWAS | 28.4%
[ 28.1%
25.8%
BRI TR #LL a8 20.2%
,,,,,, 1 20.3%
3.2%
FIBO LA SH ST | 15.8%
] 15.5%
33.9%
A= u b B D7EH S TLAELY 12.0%
1 B 20~395% (n=62)
4.8%
Z Wit ; 5.4% 0605%LL_E (n=2225)
- 5.4%
. O&3t (n=2305)
R 4.8%
AEE | 3.0% s TRIFBL TUBL LB U
B A
20~39 22 8 16 2 21 3 3 62
60 844 633 449 352 267 120 67 2,225
6 7 4 3 3 1 0 18
872 648 469 357 291 124 70 2,305
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8 A A SA
B A B 2,03 47.8% 2,073  48.7%
20~39 669 62.4% 394
36.8% 60 1,6 B 51.4% 1,3 %
44.3%
60
fI1 : FER(SA)x I8 : ZICERMEEBAIEA(SA)
0% 20% 40% 60% 80% 100%
i ' ' ' 003% O 0.4%
20208 (1072} i H 5%
{ 02.2% 0O1.0%
| _
| 017% O 0.8%
]
EES(EEE OREOCFE OBOF LD EA oot a BDE
20~3 9 39 6 ® 4 3 2 1,02
60 1,6 B 1,3% 68 31 39 3,12
20 9 1 0 2 32
2,03 2,08 73 34 43 42 %
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9(1) E A

H E A
301 7.1%
20~39
45  4.2%
60
253  8.0%
60

15

207

H

2,224
6.6%
H

A

74.2%
5.6%

84.9%

36 3.4%

9 M

1 : FER(SA)x B9(1) : BRIROEREA S [BOIFIA] (SA)

O BARE

Ti5- BIRO [EH

A== —irul
DayEugtua—
IVEZIV2ARNT
R—Lti—

K39 27

He0Y - A3—Fy A (ER
Ha0T - A 3—Fy b ETCERLESD
Fob2—i{—
BEY -2 #FLEE
BEHERFT

B oDEE

ZDih

HEEE

=
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coo coo ooo LM oog ooo

L |
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1%
5.9%
4.7%

W 2s%
6.6%
77 s'e%

20%
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L |
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W 20~395% (n=1072)
060EELLE (n=3152)

O &3t (n=4256)

100%



2 0v39 12 30 9D 45 28 0 3 36
60 187 20 2,22 253 32 4 5 11
1 1 24 3 2 0 0 0

200 23 3,18 301 62 4 8 14

2 0v39 2 0 2 0 2 0 2 1,02
60 8 0 5 64 4 13 35 3,12
0 0 0 0 0 0 1 32

10 0 7 64 6 13 38 4,2 %

17




9(2) E A Z H H SA

—_ B H =B A 982  23.1%
653 153% 576 1 35%
20~39 297 27.7%
229  21.4% 1% 14.6% 60
679 21.5% 473
15.0% 419  13.3%

i1 : FiEn(SA)x B9(2) : ﬁ?—‘lun@fliﬁﬂﬁl?ﬁ[_EE{LJ:(*‘JFHI(SA)
10% 30%

WROBARE |

- 51%2"”
- B0 ER —-815"
e Bl —_q_u,_l

i 135
ﬂ 27.7%
-tz —
JHJEJ7 /9 _.i' T R R T 1723.1%
. 21.4%
g i e P
EEIVRRT b M 3

hR—Ahts—
Sy 5T 14:6%
A > SC =l e

FEOS A= o ST CERLA |

FybZ—1{—

BERY—E2-#IEE H g?é H 20~397% (n=1072)

sown ol o D60 E (n=3152)

EEhEOEE ggg D&%t (n=4256)
P T ———— ] 15.3%
] 12, 3%
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2 0v39 52 91 99 297 23 17 156 73
60 20 318 4B 679 4D 16 212 92
2 1 4 6 5 2 6 0

24 410 56 982 6 3 18 374 16

2 0v39 7 7 3 2 1 5 33 1,02
60 16 4 10 61 6 5 481 3,12
0 0 0 1 0 1 4 32

23 11 13 64 7 11 518 4,2 %
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9(3) E A = H SsA

=i H =B A 1,059 24.9%
678 15.9% 410 9.6%
20~39 320 29.9%
253 2 36% 19 14.0% 60
733 23.3% 42 13.4%
338 10.7%

1 : FER(SA)x RI9(3) : BRIROEREEA S =FE(CLFIM](SA)

20% 30%
WROBABIE [

i B0 55
Z=i—g—irok
Trgpll Gz s —
aAVEZI VAT 23.3%

R [ 9_1*13?'7%
KSv 4 2hT EXL 23.6%
_ — 721 15.9%
. . 3.4%
HAAY A F—F b E X CER) 1,4%
HEOG - A A— Ry R EXCERLSD ﬁ:
Hp R it — {g{g
5 ‘2% = 20~393% (n=1072)
R ER- 50N | 3:3% 0605%LLE (n=3152)
& 7 o
eI 1;??% 042t (n=4256)
BN BORE |0 4%
0.3%
MEE [ ok 22T
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2 0v39 58 52 30 150 3D 45 253 36
6 0 23 147 96 257 73 33 421 44
1 2 2 3 6 4 4 0

238 201 13 410 1,09 3 678 80

2 0v39 20 8 2 7 0 6 85 1,02
6 0 41 11 15 61 12 21 716 3,12
0 0 0 1 0 0 9 32

61 19 17 69 12 27 810 4,2'%
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9-1 =3 A F B SA

=2 A F B = 343 86.5%
194 49% H B 189 4.8% H =
H = 20~39 60
20~39 948 9 22% 60 248  84.4%

-]

Rl : FFES(SA)x B9-1 : RELCHIATZBALETTOEBEFER (BRlGF) (SA)
0% 20% 40% 60% 80% 100%

) 3.8%
= ;,_I 5.3%
4.9%

B 3.4%
Be5E 5.3%
4.8%

. — 92.2%
BENE. )15 84.4%

| 86.5%

X 0.1%
N2 il 1.3%
1.1%

0.0%
TE | 0.1%
0.1%

0.0%
20— | 0.5%

0.4% m 20~395% (n=1028)
ZDith ijod?gga 0605k LL L (n=2912)
0.7%
a-&35t (n=3971)

0.5%
BEE | 2.2%

1.7%
X[ BELCRIFRTBEA SN ~7 [(RMET > — MBS BIEUES
s [F® -
2039 39 35 948 1 0 0 0 5 1,028
60 155 13 2,458 38 2 16 27 63 2,912
0 1 27 3 0 0 0 0 31
194 18 3,433 42 2 16 27 68 3,971
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9-1(1) M A B NA

H A 1km~3km 742 19.0%
5km~1 &m 632 16.2% 3km~5km 509 13.0%
1km 10km 52.4% 10km 826
21.2%
F B = H 2 0v39 60
7~8km B B H 4~5km 1km

B19-1(1) : ROKAAIWALETTORHNERE (BRIS) (km) (NA)
0% 5% 10% 15% 20% 25% 30%

1km~ 3km3k & — 1]95.)0

1 19.0%

3km~5km>* i

5km~10km 7%

10km~15km/ii

15km~20km7 i
20km~~30kmAiE [

30km~~40km3 & W 20~397% (n=1023)
g 060ELL_E (n=2849)

40km~50km i &g

Z B5st

sokmLA b

_—il%
HEOE 27664792{’

|
%[ MELHIDTIMWA SN 1~7 | (BT > — NRBR)EEIAU ST BB ERICEI SN 537

23



1km 1km~ 3km~ 5km~ 1 &m~ |1 &m~
3km 5km 1 &m 1 &m 2 &km
20v39 36 19 12 1 1D 47
60 13 54 36 4 5 23 12
0 5 3 5 3 1
1ea 7L 50 6 2 32 1®
2 km~ [3 &km~ [4 &km~
3 &km 4 &km 5 &km > &m
2039 37 22 11 3 2y 102
60 13 46 24 21 74 289
1 0 1 0 12 31
17 68 36 24 106 398
. km) nw % =
20v39 0.91 5.10 7.67 - - - -
60 1.22 4.41 8.08 7.12 - 7.50 5.42
- 4.00 8.11 - - - -
1.15 4.54 7.97 7.12 - 7.50 5.42
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A B NA

9-1(2) H
H A 15 1,635 41.9% 15~
30 994  25.5% 30 67.4%
F B = Fa 20v39 60
14~17 B & H 12~16 8
~14

B19-1(2) : ROIKAIAIZBALZTORBRME (BER) (9) (NA)
0% 10% 20% 30% 40%

— 46.6%
1559 %% | 40.2% ’

m 20~397% (n=1023)
060m%ELL_E (n=2849)
o&st

185ME130 ~ 285@EI& & b

0.0%
0.4%
0.3%
0.1%
0.4%
0.3%

285fEILA };

X!'ﬁﬁi(#ﬂﬁﬁ@'éﬁ)\?&b‘im?](ﬁﬂﬁ?ﬁ PRER)LEIZULS T, BBFRICEIZN 93
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15~30 |30 ~1 |t "t r 30
15 30 |~2
2 V39 47 2 ® 90 15 0 1 172| 1,023
60 1,1 % 7D 273 81 12 10 608| 2,849
12 7 3 1 0 0 8 31
16 % 9 g 366 97 12 11 788 3903
B E
_ () B = B

2 0v3 9 8.52 1264| 1454 3000 - - -

60 13.48 1564 1701] 2012 - 1555 3100

- 2000 1682 - - - -

12.35] 1510 1631] 2050 - 1555 3100
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9-2 A — B MA

X AF 63
26.9% F 56  23.9%
25  10.7% 21 9.0%
F 3 29%
20~39 28.6%
F 19.0% 60
28.6% F
25.0% 10.9%
F 35.9% F

1 : FiEn(SA)x f9-2 : [ERMTOBANE I TRRVERER (BRR) (MA)
0% 10% 20% 30%

] L i i

SEICIE DY !_ % m S SN SO 28.6%

2 [26.9%

JEEDT 73, ZERFEHITME ’ ] 25.0%

V7, 23.9%
|

JEFRHMILIC7EL,

28.6%
i ._4% ‘ I20’°39ﬁ{n=42}
(ERDEL 4.7%
4 4.3% O605%LL L (n=192)
ERETUCH B, EE<ODTE [ 360 B &3t (n=234)

V2 3.8%

g 0.0%
ETEIBHILY | 0.0%
| 0.0%
21.4%
Mt %
HEOE ! % 14.1%

_.I ] 12.4%
[ BBIFI AT IEASLH8~13 (BT > —rZESB)LEE LA
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i

20~39 8 8 0 1 12 2
60 55 48 21 13 13 12
63 56 21 14 25 14

2]
20~39 9 2 42
60 0 15 27 192
10 0 24 29 234
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10 A SA
B 1~2 2,482 58.3% 3
30.9% 329 7.7%
20~39 1~2 6 58.5% 3
85 7.9% 60 1~2
58.2% 3 9 @ 30.5% 249 7.6%
A
Rl : Fan(SA)x 110 : ERmEIE A 9 258E (SA)
0% 20% 40% 60% 80% 100%
' ' : ; @ 0.9%
20~39%% (n=1072) m 32.4% 58.5% 0.3%
' 0 2.4%
60mzkA I (n=3152) WA 30.5% 58.2% 1.2%
O 2.0%
&5t (n=4256) Wik 30.9% 58.3% 1.0%
mEH oE3ELlE @piEl~2E8 ofFoft oEEE
3 1~2
2039 85 34 627 10 3 1,02
60 2D 9@ 1,835 77 38 3,12
4 8 20 0 0 32
33 1,3 T 2,482 87 41 42 %
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11 MA
2,940 69.1%
1
20~39 680 63.4% 60
228 71.0% =
20~39 287 26.8% 60 91 2.9%
20~39 68 6.3% 60 341 1 08%
Rl : FE(SA)x fH11 : NE .- B2HRDEA (MA)
0% 20% 40% 60% 80%
6.3%
IHERL 10.8%
9.6%
26.8%
ERRH&S 2.9%
8.9%
NEROLEIBM _ﬂ’él
o i 71.0%
oot B AL 730y [ 69.1%
” 4.6% m 20~397% (n=1072)
LIS 12@5% 0 605%LL L (n=3152)
J ’ 045t (n=4256)
20~3 9 68 2 680 49 1,072
60 341 91 2,238 487 3,152
1 2 22 7 32
410 38 2,940 543 4,256
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12 SA

2,056 48.3% 2,009
47.2% B
20~39 630 58.8% 435
40.6% 60 1,6 @ 50.8% 1,3 @
43.4%
Rl : FEn(SA)x 12 : BN BREBAITSA(SA)

0% 20% 40% 60% 80% 100%

B 0.3% ©@0.2%
58.8% 0.2%

20~395% (n=1072) 40.6%

029% @0.5%

605% L E (n=3152) 50.8% 43.4% ' E 2.4%
1 @2.2% [©0.4%

mE5(EED DEEORE DEOF FEEOEAR DTOM 0EDE

20~39 435 630 3 2 2 1,072
60 1,602 1,368 91 16 75 3,152
19 11 1 0 1 32

2,056 2,009 95 18 78 4,256




131) & A

R &
1,274

A
29.9%
18.4% 410
20~39

13 16.1%

1,130

601 19.1%

FH SA

1,310 30.8%
781
9.6%
61
170

35.9%

57.3%
15.9% 60

654 20.7%

1 : Fin(SA)x B113(1) : EEMSBROELEASL[ROLFIA(SA)
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20~3 9 1 7 170 75 7 173 614 13
60 130 88 1,130 332 20 601 654 50
1 0 10 3 3 7 6 0
132 95 1,310 410 30 781 1,274 63
20~3 9 8 2 0 0 0 2 1,072
60 4 0 23 4 6 110 3,152
0 0 0 0 0 2 32
12 2 23 4 6 114 4,256
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132) H SA
—_ B A % A 1,065 25.0%
77 18.3% 647  15.2%
20~39 3B 34.8%
231 21.5% 162  15.1% 60
682 21.6% 540 17.1%
49 15.5%
— B A &% A

1 : FEn(SA)x R13(2) : EESBROEDEAL [ —EHB(CIFIA](SA)
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: . 4% 1 1 1 J
HhTTD T 13.1%
05T BA IS 2_4%
- B0 [EiE 4.8%
Fhp- B [EHE | 4.8
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A= === wk 13.9%
d}',. e 14, 2%
. A — 14.6%
Lav o dea— 15.5%
7z 777 ] 15.2%
i | 4.3%
T STUR T S
7728 5.1%
| 34.8%
=t R—
[z 1725.0%
_ ’ 21.5%
FSwd T 17.1%
bz e

1207 A 2—R v b EX(ER)

e
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7207 - A2 —% v b EXERLSD

i
cinl—-
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RTR
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S

Fyh2—18—

BENIRTE
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JESEN S D ELIE

000 ©0O
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RER

T Dfth
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RER
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58 ¥
7

(n=120) 525% 417% 43.3% 2 00% 317%
(n=19 417% 66.7% 58.3% 333% 417%
(n=20) 7.00% 0.0% 4.00% 80.0% 5.0% 1 50%
(n=21) 47.6% 0.0% 2 38% 61.9% 190% 2 86%
W (n=30) 433% 43.3% 133% 2 33%
(n=27) 0.0% 481% 70.4% 2 96% 185%
(n=99) 586% 7.1% 4.04% 58.6% 192% 182%
(n=17 471% 11.8% 52.9% 64.7% 118% 2 35%
(n=48) 604% 10.4% 417% 79.2% 2 08% 1 46%
(n=49) 612% 16.3% 347% 83.7% 184% 1 43%
(n=30) 567% 10.0% 333% 76.7% 2 00% 2 00%
(n=37) 757% 13.5% 432% 67.6% 1.89% 2 70%
(n=25) 520% 20.0% 3 20% 44.0% 160% 2 00%
(n=29) 655% 13.8% 3 45% 138% 2 07%
(n=31) 516% 9.7% 484% 61.3% 6.5% 194%
(n=42) 6 43% 14.3% 4 29% 69.0% 167% 119%
(n=29) 759% 6.9% 586%|  65.5%) 2 41% 138%
(n=41) 14.6% 4 88% 82.9% 9.8% 146%
B (n=26) 6 15% 7.7% 269%|  57.7%| 154% 115%
(n=27) 519% 18.5% 3 70% 81.5% 111% 2 59%
—& ( )(n=23 5 65% 8.7% 60.9% 82.6% 348% 1 30%
() (n=4% 711% 13.3% 467% 86.7% 156% 133%
(n=33) 5 7.6% 6.1% 2 42% 66.7% 9.1% 2 73%
(n=30 367% 10.0% 46.7% .0% 133% 2 67%
(n=39) 462% 17.9% 2 56% 5% 103% 231%
(n=37) 5 68% 8.1% 459% 8% 2 16% 216%
(n=24) 583% 4.2% 4 58% 50.0% 167% 2 92%
(n=39) 692% 7.7% 436% 59.0% 231% 2 56%
(n=47) 7 66% 10.6% 5 96% 74.5% 170% 2 34%
(n=56) 589% 8.9% 4.64% 1 25% 2 14%
(n=33) 636% 18.2% 5 45% 152% 9.1%
(n=34) 3 24% 2.9% 2 65% . 2.9% 2 65%
(n=50) 6.80% 16.0% 4 20% : 6.0% 1 20%
B (n=20) 500% 15.0% 3 50% 0% 5.0% 2 50%
(n=8) 500% 0.0% 3 75% 2 50% 0.0% 0.0%
(n=15) 6 00% 20.0% 5 33% 60.0% 267% 2 67%
(n=13) 385% 38.5% 0.0% 154% 385%
(n=15) 467% 46.7% 400% 6.7% 4 00%
(n=24) 4.2% 2 92% 66.7% 2 50% 125%
(n=22) 545% 0.0% 2 73% 40.9% 136% 2 27%
B (n=29) 7 24% 20.7% 5 86% 62.1% 3 45% 6.9%
(n=25) 480% 48.0% 3 60% 120% 2 00%
W (n=21) 476% 47.6% 4 29% 2 38% 143%
7 (n=19) 78.9% 3 68% 211% 158%
(n=10) 30.0% 20.0% 0.0% 1 .00%
(n=37) 757% 24.3% 378% 67.6% 2 43% 1 35%
(n=43) 605% 7.0% 5 58% 74.4% 3 26% 2 09%
(n=40) 5 7.5% 2.5% 5 25% 77.5% 2 00% 2 25%
E_ (n=32) 500% 12.5% 4 69% 68.8% 2 19% 1 88%
(n=50) 580% 16.0% 5 20% 70.0% 2 00% 6.0%
(n=42 548% 9.5% 333% 73.8% 9.5% 9.5%
(n=43) 512% 11.6% 4 42% 81.4% 2 56% 1 40%
(n=38) 632% 10.5% 5 26% 81.6% 368% 211%
(n=30) 733% 13.3% 6 33% 76.7% 467% 233%
(n=61) 7.05% 11.5% 426% 88.5% 180% 9.8%
# (n=42) 11.9% 5 00% 167% 1 .90%
(n=19) 526% 15.8% 4 74% 368% 5.3%
(n=39 543% 5.7% 3 71% 2 00% 171%
(n=12 500% 0% 66.7% 2 50% 333%
(n=31) 742% 5% 323% 58.1% 120% 9.7%
(n=33 781% 1% 500% 313% 9.4%
(n=39) 538% % 410% 154% 5.1%
(n=19 2 67% 0.0% 2 00% 6.7% 6.7%
(n=47) 511% 17.0% 213% 106% 1 49%
L (n=39 6 32% 5.3% 3 95% 2 63% 237%
(n=3) 667% 66.7% 0.0% 0.0%
5 89% 184% 1 85%
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(n=12p 5.0% 267% 167% 9.2% 7.5% 0.0%
(n=12) 0.0% 333% 8.3%| 25.0% 0.0% 0.0%

(n=20 5.0% 1 00% 0.0% 5.0%| 10.0% 0.0%
(n=29 4.8% 2 38% 9.5%| 19.0% 0.0% 0.0%

i (n=309 3.3% 267% 133%| 20.0% 0.0% 0.0%
(n=273 3.7% 2 59% 3.7% 3.7% 7.4% 0.0%
(n=99 5.1% 232% 7.1% 9.1% 6.1% 0.0%
(n=173 11.8% 118% 0.0% 0.0% 0.0% 0.0%

(n=439 8.3% 2 29% 6.3% 6.3% 0.0% 0.0%
(n=49 4.1% 102% 2.0% 6.1%| 10.2% 0.0%
(n=30 10.0% 167% 3.3%| 13.3%| 13.3% 0.0%
(n=373 0.0% 162% 0.0% 5.4% 0.0% 0.0%
(=219 4.0% 120% 4.0%| 12.0% 8.0% 0.0%
(n=29 6.9% 3 10% 6.9%| 10.3% 0.0% 0.0%
(n=39 6.5% 129% 0.0% 0.0% 6.5% 0.0%

(n=4 3 0.0% 119% 7.1% 2.4% 4.8% 0.0%
(n=29 0.0% 2 41% 103% 3.4% 3.4% 0.0%
(n=41) 4.9% 122% 4.9% 4.9% 2.4% 0.0%

B  (n=29 0.0% 7.7% 0.0% 7.7%| 15.4% 0.0%
(n=273 3.7% 333% 111%| 11.1% 0.0% 0.0%

—& () (n=23) 4.3% 4.3% 0.0% 0.0% 4.3% 0.0%
() (n=45) 6.7% 111% 2.2%| 13.3% 2.2% 0.0%

(n=33 0.0% 3 03% 3.0% 6.1% 9.1% 0.0%
(n=30) 20.0% 367% 167%| 13.3%| 13.3% 0.0%

(n=39 2.6% 2 05% 5.1%| 10.3% 2.6% 2.6%
(n=373 0.0% 2.7% 0.0%| 10.8% 2.7% 0.0%
(n=2% 8.3% 2 92% 4.2% 8.3%| 16.7% 0.0%
(n=39 7.7% 231% 2.6% 7.7% 2.6% 0.0%
(n=473 4.3% 8.5% 0.0% 6.4% 6.4% 0.0%
(n=59 5.4% 179% 3.6% 3.6% 0.0% 0.0%
(n=33 12.1% 121% 0.0% 9.1%| 12.1% 0.0%
(n=39 0.0% 35.3% 2.9%| 11.8%| 11.8% 0.0%
(n=50 6.0% 2 40% 6.0%| 12.0% 8.0% 0.0%

B (n=20 5.0% 2 00% 200%| 10.0% 0.0% 0.0%
(n=8) 12.5% 125% 0.0% 0.0% 0.0%
(n=19 0.0% 2 00% 6.7%| 13.3%| 26.7% 0.0%
(n=13 0.0% 231% 7.7% 0.0%| 15.4% 0.0%
(=19 0.0% 333% 267%| 33.3% 0.0% 0.0%
(n=2% 4.2% 2 08% 8.3% 4.2% 4.2% 0.0%
(n=223 13.6% 136% 4.5%| 13.6%| 13.6% 0.0%

B (n=29 3.4% 0.0% 0.0% 0.0% 3.4% 0.0%
(n=29 0.0% 2 00% 8.0% 4.0%| 16.0% 0.0%

W (n=219 4.8% 1.90% 143% 9.5% 9.5% 0.0%
A (n=19 5.3% 2 63% 105% 0.0% 0.0% 0.0%
(n=10 0.0% 100% 100%| 10.0%| 10.0%| 1 00%
(n=373 0.0% 3 24% 2.7% 8.1% 2.7% 0.0%
(n=43 7.0% 186% 7.0% 2.3% 2.3% 0.0%
(n=40 2.5% 2 00% 0.0%| 10.0%| 10.0% 0.0%

E  (n=32 0.0% 313% 0.0% 0.0%| 12.5% 0.0%
(n=50 0.0% 2 60% 2.0%| 12.0% 8.0% 0.0%
(n=43 2.4% 4.05% 0.0% 0.0% 4.8% 0.0%

(n=43 2.3% 2 09% 2.3% 9.3% 7.0% 0.0%
(n=39 2.6% 2 11% 2.6% 5.3% 5.3% 0.0%
(n=30 0.0% 267% 6.7% 6.7% 3.3% 0.0%

(n=6 9 1.6% 8.2% 1.6%| 16.4% 0.0% 0.0%

w (n=4) 9.5% 1.90% 2.4% 2.4% 7.1% 0.0%
(n=19 5.3% 3 68% 0.0%| 21.1% 5.3% 0.0%
(n=39 2.9% 143% 2.9%| 11.4% 5.7% 0.0%

(n=12 0.0% 167% 0.0% 0.0%| 16.7% 0.0%

(n=39 3.2% 194% 6.5% 9.7%| 12.9% 0.0%
(n=33 6.3% 188% 0.0% 9.4% 6.3% 0.0%

(n=39 5.1% 4.36% 0.0%| 10.3% 7.7% 0.0%
(=19 6.7% 40.0% 133% 0.0% 6.7% 0.0%

(n=473 2.1% 170% 2.1%| 17.0% 2.1% 0.0%
(n=39 5.3% 184% 2.6%| 21.1% 2.6% 0.0%

(n=3) 0.0% 0.0% 0.0% 0.0% 0.0% 0.0%

4.3% 2 09% 5.0% 8.6% 6.0% 0.1%
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23

79.2 60 .4 417
83.7 61.2 347
67.6 757 43.2
69.0 643 429
829 610 48.8

B 57.7 615 26.9
826 565 60.9
86.7 711 46.7
66.7 576 242
8338 568 459
590 692 43.6
839 589 46 4
40.0 467 46.7
66.7 542 292

B 62.1 724 58.6
36.0 480 48.0
67.6 757 378
767 733 63.3
88.5 705 42.6
64.3 738 50.0
58.1 742 323
68.8 78.1 50.0
615 538 41.0

20
767 56.7 333
55.2 655 345
61.3 51.6 48 .4
655 759 58.6
50.0 367 46.7
61.5 46 .2 25.6
50.0 58.3 45.8
745 76.6 596
758 636 545
68.0 68.0 420
450 50.0 350
74 4 60.5 55.8
775 575 525
700 58.0 520
73.8 548 333
81.4 51.2 442
816 632 52.6
65.7 54.3 371
89.4 51.1 213
68 .4 632 395
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58.3 417 66.7
80.0 70.0 40.0
61.9 47 6 23.8
40.0 433 43.3
704 59.3 481
58.6 586 40.4
64.7 47 1 52.9
440 520 320
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0.0 385 385
409 545 273
i 429 47 6 47 6
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(2) H g
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H
B & H
B A A
I\
L B
5
9(1) B A H
( )
1 Ll (n=56) 4 64%
2 (n=7 3 192%
3 (n=59 1 64%
4 (n=51 137%
5 (n=7 9 122%
13(1) % A
( )
1 Ll (n=56) 2 86%
2 (n=59 1 64%
3 (n=7 3 151%
4 (n=71 127%
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ax I\ 25
x 3
1L
1~
H = 5
15(1) 1% =2
)
1 (n=71 197%
2 (n=26) 154%
3 (n=5 5 1 45%
4 (n=5 7 1 40%
5 (n=4 5 133%
1 %4) /N A
)
1 (n=5 7 1 23%
2 (n=26) 115%
3 (n=4 3 9.3%
4 (n=4 5 8.9%
5 (n=7 3 8.2%

98

I\

H (SA)

il

I\

1.



65 = i =)
54.7% R 38.4% =]
=) 7
=] =] 65.4%
52.6% 50.9% 21.7%
22.0% 23.9%
x  18(1) =]
1=

(n=2 8y 5 89% 3 80% 3.1%| 10@%

(n=39 5 26% 4 21% 5.3%| 10@%

(n=4Q 6 00% 3 25% 7.5%) 100%

(n=5 7 6 14% 3 16% 7.0%| 100%

i (n=70Q 5 43% 3 86% 7.1%| 100%
(n=4 9 6 30% 3 26% 4.3%| 10 0%
(n=21) 4 76% 4 71% 5.2%| 10@%

(n=519 4 91% 4 18% 9.1%| 10@%

(n=8 9 5 71% 3 81% 4.8%| 10 @%

(n=6 @ 5 76% 3 79% 45%| 10 ®%

(n=6 9 5 63% 3 59% 7.8% 100%

(n=7 9 5 66% 3 68% 6.6%| 10®0%

(n=5 9 5 19% 4 44% 3.7%| 10@%

(n=7 9 4 61% 4 08% 132%| 100%

(n=6 3 4 76% 4 76% 4.8%| 10 ®%

(n=7Q 5 57% 4 29% 1.4%| 100%

(n=7 9 6 62% 2 70% 6.8%| 100%

(n=7 9 6 03% 3 33% 6.4%| 100%

B  (n=50 6 00% 2 20% 180%| 100%
(n=5 @ 5 18% 4 29% 5.4%| 10 @%

—f () (n=390 5 67% 3 33% 100%| 100%
() (n=59 6 48% 2 41% 111%| 100%

(n=719 5 20% 4 00% 8.0%| 10@%

(n=7 13 4 23% 4 79% 9.9%| 10@%

(n=7 1 5 07% 3 94% 9.9%| 10@%

(n=4 3 3 49% 4 88% 163%| 100%

(n=6 @ 5 15% 4 09% 7.6%| 100%

(n=7 9 4 21% 5 26% 5.3%| 10 @%

(n=5 9 6 03% 2 76% 121%| 100%

(n=8 2 6 34% 2 93% 7.3%| 100%
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(n=4 9 5 83% 3 54% 6.3%| 10@%
(n=519 4 55% 5 09% 3.6%| 10@%

(n=7 3 507% 4 11% 8.2%| 10 @%

Z (n=49 5 87% 3 70% 4.3%| 10 ®%
(n=29 5 52% 2 76% 172%| 100%

(n=4 9 6 74% 2 39% 8.7%| 10@%

(n=4 9 5 63% 3 33% 104%| 100%

(n=6 7 6 12% 3 43% 4.5%| 10 0%

(n=6 9 6 09% 3 33% 5.8%| 10@%

(n=4 9 7 39% 2 17% 4.3%| 10 0%

B  (n=43 6 28% 2 79% 9.3%| 10@%
(n=6 7 5 82% 3 73% 45%| 10 ®%

#  (n=59 6 38% 2 76% 8.6%| 10 @%
(n=5 1 5 29% 4 12% 5.9%| 10@%

(n=2 9 5 36% 3 93% 7.1%| 10@%
(n=7Q 6 14% 3 43% 4.3%| 10 0%
(n=7Q 5 43% 4 29% 2.9%| 10@%
(n=7Q 5 57% 3 86% 5.7%| 10 @%

E  (n=52 4 04% 4 81% 115%| 100%
(n=7Q 5 29% 4 14% 5.7%| 10 @%

(n=6 9 4 64% 4 20% 116%| 100%

(n=71 507% 4 08% 8.5%| 10 @%

(n=7 9 4 46% 5 00% 5.4%| 10@%
(n=49 5 78% 3 78% 4.4%| 10 @%

(n=6 9 5 59% 4 12% 2.9%| 10@%

&  (n=65 5 69% 3 54% 7.7%| 10@%
(n=5 1 5 29% 4 31% 3.9%| 10@%

(n=6 @ 5 30% 4 24% 45%| 10 ®%

(n=4Q 4 75% 4 25% 100%| 100%

(n=7Q 6 29% 3 29% 4.3%| 10 0%

(n=5 9 6 30% 3 33% 3.7%| 10@%

(n=6 9 5 76% 3 79% 4.5%| 10 @%

(n=2 9 3 46% 6 54% 0.0%| 10®@%

(n=8 3 4 46% 3 61% 193%| 100%

I (n=5§ 6 07% 3 21% 7.1%| 10@%
(n=6) 167% 3 33% 500%| 10@%

5 47% 3 84% 6.9%| 10@%

100




47.8%

39.7% 5 W
85.7% 79.2% 7 88%
76.7% — 76.5% ]
14.8% 18.5% 20.0% 23.5% 24.4%
x 18(2) R
(n=16p 4 91% 3 91% 1.8% 1 12%
(n=2 0 2 00% 6 00% 5.0% 1 50%
(n=2 9 7 92% 1 25% 8.3% 4.2%
(n=359 257% 6 29% 5.7% 5.7%
i (n=39 2 63% 6 84% 0.0% 5.3%
(n=29 5 52% 2 41% 3.4% 1 72%
(n=10) 3 70% 4 30% 4.0% 1 60%
(n=2 7 2 96% 6 67% 0.0% 3.7%
(n=49 6 46% 2 71% 2.1% 6.3%
(n=39 7 11% 1 58% 5.3% 1 05%
(n=39 6 94% 1 39% 5.6% 111%
(n=43 4 88% 3 02% 2.3% 1 86%
(n=29 2 86% 5 36% 3.6% 1 43%
(=359 4 29% 4 57% 5.7% 8.6%
(n=30 5 33% 3 67% 0.0% 1 00%
(n=39 4 87% 3 59% 2.6% 1 28%
(n=49 327% 5 51% 4.1% 8.2%
(n=4 7 5 96% 2 98% 4.3% 6.4%
B (n=30 6 67% 1 67% 3.3% 1 33%
(n=29 4 14% 4 14% 3.4% 1 72%
—& () (n=17 7 65% 5.9% 5.9% 1 18%
( )(n=335 8 57% 1 43% 2.9% 0.0%
(n=39 4 36% 4 10% 2.6% 1 54%
(n=30 4 33% 4 67% 6.7% 1 00%
(n=39 2 78% 5 28% 2.8% 167%
(n=159 6 00% 2 67% 1 33% 0.0%
(n=3 9 2 35% 5 59% 1 18% 1 18%
(n=3 2 3 44% 4 69% 1 25% 6.3%
(=359 6 57% 2 57% 2.9% 5.7%
(n=5 2 7 88% 1 35% 3.8% 3.8%
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(n=29 6 07% 357% 0.0% 3.6%
(n=29 3 60% 4 80% 4.0% 1 20%
(n=37 6 76% 2 43% 2.7% 5.4%

) (n=27% 519% 3 70% 3.7% 7.4%
(n=19 313% 5 63% 6.3% 6.3%
(n=31 2 90% 5 48% 3.2% 1 29%
(n=27% 2 59% 6 67% 3.7% 3.7%
(n=41 2 44% 6 10% 2.4% 1 46%
(n=42 3 33% 4 52% 7.1% 167%
(n=39 4 12% 5 29% 2.9% 5.9%

B (n=27% 6 67% 2 59% 3.7% 3.7%
(n=39 4 36% 4 10% 5.1% 1 03%

] (n=37 4 86% 4 59% 2.7% 5.4%
(n=27% 1 48% 6 30% 3.7% 1 85%
(n=19 3 33% 333% 6.7% 2 67%
(n=413 767% 1 86% 7.0% 0.0%
(n=39 6 32% 2 89% 0.0% 7.9%
(n=39 4 62% 2 31% 1 03% 2 05%

K (n=21 5 24% 3 81% 4.8% 4.8%
(n=37 5 68% 3 24% 2.7% 8.1%
(n=32 5 00% 4 06% 9.4% 0.0%

(n=389 5 00% 3 89% 5.6% 8.3%
(n=33 4 24% 5 15% 6.1% 0.0%
(n=29 7 31% 2 31% 3.8% 0.0%
(n=39 7 11% 2 11% 5.3% 2.6%

75 (n=37 6 49% 3 24% 0.0% 2.7%
(n=27% 1 85% 8 52% 0.0% 0.0%
(n=395 371% 4 57% 5.7% 1 43%

(n=19 2 63% 5 79% 0.0% 1 58%

(n=4 9 3 18% 5 00% 2.3% 1 59%
(n=39 6 47% 2 06% 2.9% 1 18%

(n=39 4 21% 4 21% 0.0% 1 58%

(n=9) 5 56% 5 56% 0.0% 0.0%

(n=37 3 24% 5 68% 5.4% 8.1%

I (n=39% 3 24% 5 59% 2.9% 8.8%
(n=1) 0.0% 0.0%| 100% 0.0%

4 78% 397% 3.9% 9.5%

102




65
i 60.7%
H A il
£ 19.9% B
4 B il
i 62
B il
86.2%
i
i
70.3 7 69.6%
64.3%
)

19.2%

80.0%

=) 1= & B
i 47.1%
& H X
1l 65
3
89.3% = i3] 87.0%
i 77.8%
79.3%
6 67% 64.7%
E H

103



x 18(3) 1)
& B
£ | i
(n=10p 2 66% 6 06% 431% 165% 165% 3 58% 119%
(n=189 2 50% 6 25% 2 50% 6.3% 3 75% 6.3%
(n=13 154% 538% 462% 231% 0.0% 154% 154%
(n=18 2 78% 444% 389% 5.6% 2 78% 389% 5.6%
W (n=271 185% 444% 444% 2 22% 148% 2 59% 2 22%
(=19 2 67% 667% 0.0% 2 00% 467% 2 00%
(n=99 2 63% 485% 394% 2 32% 152% 2 63% 111%
(n=23 3 48% 6 09% 435% 2 61% 3 48% 8.7% 1.30%
(n=32 156% 719% 563% 2 19% 9.4% 2 19% 0.0%
(n=23 2 40% 600% 2 80% 2 00% 2 00% 160% 2 00%
(n=23 217% 565% 391% 130% 8.7% 0.0% 4.3%
(=29 7.1% 607% 500% 3.6% 107% 107% 143%
(n=24 333% 542% 500% 2 92% 125% 2 50% 8.3%
(n=31 2 58% 742% 613% 129% 129% 161% 129%
(n=39 2 33% 433% 433% 3.3% 6.7% 167% 1.00%
(n=39 133% 633% 367% 167% 133% 2 00% 133%
(n=29 2 00% 400% 350% 100% 5.0% 2 50% 100%
(n=2¢ 115% 6 15% 385% 192% 7.7% 192% 3.8%
B (n=1) 9.1 2 73%) 2 73% 9.1% 9.1% 9.1% [
(n=24 8.3% 708% 458% 4.2% 125% 125% 0.0%
— () (n=10 0.0% 6 00% 500% 2 00% 0.0% 3 00% 0.0%
( )(n=13 7.7% 538% 308% 0.0% 7.7% 7.7% 7.7%
(n=39 2 67% 6 33% 467% 1.00% 167% 133% 1.00%
(n=39 176%|  471%] 500% 176% 8.8% 2 65% 118%
(=29 107% 607% 429% 7.1% 107% 179% 107%
(n=29 0.0% 333% 4.8% 9.5% 4.8% 2 38%
(n=21 148% 667% 407% 259% 2 22% 185% 111%
(n=49 150% 67.5% 500% 175% 1.00% 175% 175%
(n=1¢ 0.0% 2 50% 6.3% 2 50% 0.0% 2 50%
(n=24 2 08% 500% 2 92% 8.3% 4.2% 4.2% 2 08%
(n=17 118%|  353%] 471% 118% 118% 5.9% 118%
(=29 357% 714% 607% 2 50% 2 14% 179% 2 50%
(n=39 2 67% 8 00% 567% 3.3% 1.00% 2 33% 133%
B8 (n=11 353% 7.06% 2 94% 5.9% 2 35% 2 94% 5.9%
(n=8) 0.0% 625% 375% 2 50% 37.5% 375% 0.0%
(=11 9.1% 636% 2 73% 0.0% 9.1% 2 73% 182%
(n=1¢ 188% 6.88% 625% 188% 2 50% 125% 0.0%
(n=23 174% 478% 348% 217% 130% 8.7% 174%
(n=23 217% 652% 478% 174% 3 48% 3 04% 130%
(n=19 2 00% 7.00% 300% 300% 30.0% 2 00% 1.00%
B (n=12 8.3% 667% 500% 8.3% 2 50% 8.3% 167%
(=23 2 40% 6 00% 400% 8.0% 2 40% 2 80% 120%
W (n=19 188% 500% 2 50% 2 50% 0.0% 375% 313%
7 (n=2) 2 38% 571% 476% 2 38% 2 86% 143% 190%
(n=11 182% 364% 364% 2 73% 182% 182% 182%
(n=24 167% 583% 417% 4.2% 8.3% 2 50% 8.3%
(n=39 167% 6 00% 533% 133% 100% 100% 2 00%
(n=21 296% 630% 296% 185% 111% 7.4% 185%
£ (n=2% 160% 7 60% 6 00% 160% 8.0% 160% 8.0%
(n=29 4 48% 483% 483% 138% 138% 2 07% 103%
(n=29 138% 8 62% 207% 3.4% 4 14% 3.4%
(n=29 207% 517% 207% 103% 3 45% 103%
(n=37 135% 757% 162% 8.1% 8.1% 135%
(=11 176% 471% 471% 2 35% 118% 118% 176%
(n=29 143% 893% 6 43% 3.6% 143% 0.0% 179%
#_ (n=23 174% 8 7.0% 6 96% 8.7% 8.7% 1 74% 130%
(n=22 2 73% 636% 545% 2 27% 136% 182% 318%
(n=29 2 50% 750% 429% 143% 107% 107% 143%
(n=13 2 35% 706% 647% 2 94% 2 35% 5.9% 5.9%
(n=23 3 04% 739% 6 09% 174% 130% 130% 4.3%
(n=19 5.6% 444% 2 78% 167% 111% 111% 2 22%
(=23 2 40% 7 60% 6 00% 120% 0.0% 8.0% 2 00%
(n=13 0.0% 471% 471% 118% 118% 4 12% 0.0%
(n=39 6.7% 767% 6 67% 3.3% 6.7% 3.3% 167%
W (n=19 111% 778% 333% 167% 2 22% 5.6% 2 78%
(n=2) 5 00% 10 Q0% 10 00% 5 00% 0.0% 0.0% 0.0%
199% 6 07% 471% 154% 136% 192% 133%

104



(n=10 9 8.3% 15.6% 8.3% 6.4% 8.3% 0.0%
(n=19 6.3% 6.3% 0.0% 12.5% 6.3% 6.3%

(n=13) 30.8% 30.8% 38.5% 23.1% 154% 7.7%
(n=18) 5.6% 11.1% 11.1% 11.1% 0.0% 5.6%

W (n=27) 7.4% 14.8% 3.7% 7.4% 148% 0.0%
(n=15) 6.7% 20.0% 26.7% 13.3% 6.7% 0.0%
(n=99) 8.1% 18.2% 16.2% 16.2% 111% 2.0%
(=23 17.4% 17.4% 26.1% 4.3% 4.3% 0.0%

(n=32) 12.5% 18.8% 18.8% 15.6% 3.1% 0.0%
(n=25) 8.0% 20.0% 24.0% 360% 0.0% 0.0%
(n=23) 17.4% 8.7% 8.7% 21.7% 8.7% 4.3%
(n=28) 10.7% 3.6% 7.1% 21.4% 0.0% 3.6%
(n=24) 4.2% 25.0% 25.0% 8.3% 8.3% 0.0%
(n=31) 16.1% 9.7% 16.1% 6.5% 3.2% 0.0%
(n=30) 3.3% 23.3% 23.3% 10.0% 3.3% 3.3%
(n=30) 13.3% 20.0% 23.3% 23.3% 100% 0.0%
(n=20) 10.0% 20.0% 15.0% 20.0% 0.0% 0.0%
(n=26) 19.2% 7.7% 26.9% 15.4% 3.8% 0.0%

B (n=11) 27.3% 18.2% 364% 18.2% 9.1% 0.0%
(n=24) 4.2% 4.2% 20.8% 20.8% 4.2% 0.0%

—& () (n=10 10.0% 10.0% 40.0% 10.0% 0.0% 0.0%

( )(n=13 15.4% 15.4% 23.1% 308% 0.0% 0.0%

(n=30) 23.3% 26.7% 23.3% 20.0% 3.3% 6.7%
(=39 8.8% 8.8% 11.8% 14.7% 5.9% 2.9%

(n=28) 21.4% 28.6% 32.1% 10.7% 0.0% 0.0%
(n=21) 28.6% 19.0% [ 23.8% 0.0% 0.0%
(n=27) 22.2% 18.5% 18.5% 18.5% 7.4% 0.0%
(n=40) 15.0% 7.5% 7.5% 12.5% 100% 2.5%
(n=16) 25.0% 37.5% [ 500% 6.3% 0.0%
(n=24) 20.8% 20.8% 20.8% 37.5% 0.0% 4.2%
(n=17) 11.8% 11.8% 17.6% 29.4% 118% 0.0%
(n=28) 21.4% 17.9% 14.3% 10.7% 3.6% 3.6%
(n=30) 23.3% 13.3% 16.7% 6.7% 3.3% 3.3%

&  (n=17) 0.0% 17.6% 5.9% 5.9% 118% 0.0%
(n=8) 0.0% 0.0% 0.0% 0.0% 0.0% 0.0%
(n=11) 364% 27.3% 18.2% 9.1% 0.0% 0.0%
(n=16) 0.0% 25.0% 6.3% 6.3% 6.3% 0.0%
(n=23) 17.4% 8.7% 17.4% 13.0% 4.3% 4.3%
(n=23) 17.4% 13.0% 8.7% 8.7% 8.7% 0.0%
(n=10) 10.0% 20.0% 0.0% 10.0% 0.0% 0.0%

B (n=12) 8.3% 8.3% 33.3% 16.7% 0.0% 0.0%
(n=25) 4.0% 12.0% 20.0% 12.0% 8.0% 0.0%

W (n=16) 18.8% 18.8% 6.3% 18.8% 125% 0.0%
#@ (n=21) 14.3% 28.6% 23.8% 0.0% 9.5% 0.0%
(n=11) 9.1% 0.0% 18.2% 0.0% 0.0% 0.0%
(n=24) 8.3% 4.2% 12.5% 4.2% 4.2% 4.2%
(n=30) 20.0% 13.3% 23.3% 23.3% 3.3% 0.0%
(n=27) 22.2% 11.1% 2 96% 14.8% 0.0% 0.0%

E  (n=25) 12.0% 20.0% 20.0% 4.0% 8.0% 0.0%
(n=29) 3.4% 20.7% 10.3% 13.8% 3.4% 3.4%
(n=29 3.4% 10.3% 10.3% 0.0% 0.0% 0.0%

(n=29) 13.8% 13.8% 20.7% 10.3% 3.4% 0.0%
(n=37) 10.8% 24.3% 10.8% 13.5% 5.4% 0.0%
(n=17) 11.8% 11.8% 41.2% 29.4% 0.0% 0.0%
(n=28) 10.7% 7.1% 7.1% 14.3% 0.0% 0.0%

®  (n=23) 13.0% 17.4% 8.7% 13.0% 4.3% 0.0%
(n=22) 22.7% 9.1% 27.3% 18.2% 136% 0.0%
(=29 10.7% 17.9% 3.6% 3.6% 0.0% 0.0%

(=173 5.9% 5.9% 5.9% 11.8% 118% 5.9%

(n=23) 13.0% 4.3% 8.7% 21.7% 4.3% 0.0%
(n=19 27.8% 27.8% 333% 16.7% 5.6% 0.0%

(n=25) 20.0% 12.0% 16.0% 12.0% 0.0% 4.0%
(=173 11.8% 29.4% 29.4% 5.9% 5.9% 0.0%

(n=30) 10.0% 6.7% 16.7% 20.0% 3.3% 3.3%

W (n=19 22.2% 22.2% 22.2% 11.1% 0.0% 0.0%
(n=2) 0.0% 0.0% 0.0% 0.0% 0.0% 0.0%
13.1% 15.6% 17.4% 14.1% 5.3% 1.3%
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61,347 171 9] 5.3% 3,229 24| 14.0% 8,610
15,484 29 1| 3.4% 534 2| 6.9% 1,068
8,915 33 0] 0.0% 0 4] 12.1% 1,081
9,847 45 3] 6.7% 656 2| 4.4% 438
1] 10,424 54 1| 1.9% 193 7| 13.0% 1,351
10,688 33 2] 6.1% 648 3] 9.1% 972
10,000 157 7] 4.5% 446 14| 8.9% 892
2,497 42 2| 4.8% 119 3] 7.1% 178
2,272 60 1] 1.7% 38 8| 13.3% 303
418 54 2] 3.7% 15 9| 16.7% 70
3,235 43 21 4.7% 150 3] 7.0% 226
561 60 5| 8.3% 47 10| 16.7% 94
8,104 34 2] 5.9% 477 3] 8.8% 715
3,887 52 1] 1.9% 75 3] 5.8% 224
3,668 43 1| 2.3% 85 5| 11.6% 427
2,651 47 1] 2.1% 56 7| 14.9% 395
1,542 52 0] 0.0% 0 5| 9.6% 148
1,820 59 0] 0.0% 0 6| 10.2% 185
= 279 48 2] 4.2% 12 4] 8.3% 23
1,120 41 0] 0.0% 0 3] 7.3% 82
—& 145 25 6| 24.0% 35 1l 4.0% 6
441 42 9| 21.4% 95 3] 7.1% 32
1,513 48 1| 2.1% 32 3] 6.3% 95
3,907 50 4] 8.0% 313 3] 6.0% 234
1,447 54 3] 5.6% 80 4] 7.4% 107
2,240 31 5| 16.1% 361 3] 9.7% 217
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4,372 48 3] 6.3% 273 0] 0.0% 0
1,587 55 4] 7.3% 115 4] 7.3% 115
1,714 40 4| 10.0% 171 11] 27.5% 471
692 62 12| 19.4% 134 9| 14.5% 100
2,946 40 4| 10.0% 295 4] 10.0% 295
2,338 42 3] 7.1% 167 5| 11.9% 278
1,474 52 2| 3.8% 57 2| 3.8% 57
B 10,580 33 2] 6.1% 641 2| 6.1% 641
5,428 24 1| 4.2% 226 0] 0.0% 0
2,383 36 0] 0.0% 0 4] 11.1% 265
3,960 38 0] 0.0% 0 3] 7.9% 313
4,331 50 1] 2.0% 87 1l 2.0% 87
1,989 53 4] 7.5% 150 5| 9.4% 188
5,839 33 0] 0.0% 0 3] 9.1% 531
B 156 33 1] 3.0% 5 9| 27.3% 43
3,113 49 0| 0.0% 0 4] 8.2% 254
il 6,069 40 0] 0.0% 0 2| 5.0% 303
3,800 37 1] 2.7% 103 2| 5.4% 205
3,657 22 0] 0.0% 0 1| 4.5% 166
1,810 55 0] 0.0% 0 11] 20.0% 362
2,688 51 4] 7.8% 211 7| 13.7% 369
3,495 52 5| 9.6% 336 10| 19.2% 672
& 3,759 36 1] 2.8% 104 7| 19.4% 731
2,009 49 0| 0.0% 0 14| 28.6% 574
2,257 55 1| 1.8% 41 9| 16.4% 369
1,787 53 4] 7.5% 135 7| 13.2% 236
1,332 55 41 7.3% 97 3] 5.5% 73
704 35 4| 11.4% 80 5| 14.3% 101
688 51 7] 13.7% 94 6| 11.8% 81
[i] 1,356 54 3] 5.6% 75 6| 11.1% 151
1,851 41 0] 0.0% 0 3| 7.3% 135
1,763 54 0| 0.0% 0 4] 7.4% 131
5,400 30 0] 0.0% 0 0] 0.0% 0
671 48 1] 2.1% 14 3] 6.3% 42
520 42 0] 0.0% 0 3] 7.1% 37
984 50 0] 0.0% 0 11] 22.0% 216
8,579 24 0] 0.0% 0 2| 8.3% 715
422 66 5| 7.6% 32 5| 7.6% 32
370 51 10| 19.6% 73 6| 11.8% 44
6 0| 0.0% 2| 33.3%
277,325 3,152 161 4.1% 11,412 337 9.9% 27,553
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